Run 4595 triggerwise, sums: All

Entries: 4543768

Mean: 4394.7802 +/- 1.9590

Std Dev: 4175.8819 +/- 1.3852
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Run 4595 triggerwise, sums: Beam ON, Laser ON
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— Helicity==1

Entries: 1264962

Mean: 5190.5228 +/- 45071

Std Dev: 5069.1790 +/- 3.1870
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Run 4595 triggerwise, sums

: Beam OFF

C Entries: 964
50 » Mean: 1359.3496 +/- 20.6871
: Std Dev: 642.2996 +/- 14.6280
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Run 4595 triggerwise, sums: Beam ON, Laser OFF
Helicity==
— Helicity==1
Entries: 973919

Mean: 3398.1960 +/- 2.2847

Std Dev: 2254.7204 +/- 1.6155
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